
Conjugador lengadocian
aclatar
Modèl «100»
conjugason 1 non alternanta

Indicatiu
Present Imperfach Preterit Futur

s1 aclati aclatavi aclatèri aclatarai
s2 aclatas aclatavas aclatères aclataràs
s3 aclata aclatava aclatèt aclatarà
p1 aclatam aclatàvem aclatèrem aclatarem
p2 aclatatz aclatàvetz aclatèretz aclataretz
p3 aclatan aclatavan aclatèron aclataràn

Subjontiu Imperatiu
Present Imperfach Forma affirmativa Forma negativa

s1 aclate aclatèsse
s2 aclates aclatèsses aclata aclates
s3 aclate aclatèsse
p1 aclatem aclatèssem aclatem aclatem
p2 aclatetz aclatèssetz aclatatz aclatetz
p3 aclaten aclatèsson

Condicional
Present Formas impersonalas

s1 aclatariái Infinitiu aclatar
s2 aclatariás Gerondiu aclatant
s3 aclatariá Participi passat aclatat / aclatada
p1 aclatariam
p2 aclatariatz
p3 aclatarián
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